JIucr 1 Ymeepoicoaio
Kommipeccop BO3AYIIHBIA HOPUIHEBOW % ,
KBII-1-1600-24 — 114,
Ne HaumMeHoBaHUe K 21 BrixirouaTens B coope 1 32 CanyH B cOope 1
1 BHET crenvaisHb 5 21.1 | BunT M4x21 4 32.1 | KOIBLIO PE3UHOBOE 1
pe3sba M10x12x48 21.2 | raiika M11 1 (013-017-25) 60 dunbTp B cO0pe 1
2 | Koneco @12x0118xh29 | 2 213 | xnanan 1 32.2 | canyn M16 ! 60.1 | xopmyc (pe30a (3/8") 1
3 Taiixa M10 4 21.4 | ocHOBaHHWE 1 33 YIJIOTHUTENb KPBIIIKHA 1 60.2 | npoxmnamka 1
4 Iaii6a 10 b 21.5 | mpokjamka pe3nHOBas 1 34 Buat M8x22 1 60.3 | xpblmka 1
R e — — 21.6 | raiika M4 4 35 | Hlatyn 1 60.4 | Bunr camopes 4x15 1
6 Bunt M5x13 2 21.7 | GJIOK BBIKJIFOUATEIIS 1 36 Boauno 1 61 TpyOka HarHeTaTe/IbHAS 1
7 | Tepexommmk M13xM10 1 218 | xopmyc 1 37 | Ock 012x34 1 B cGope Gompuras
3 KOJBII0 pE3NHOBOE 1 21.9 | Bunt M4x10 1 38 Komsno cronoproe 2 61.1 malnﬁa 2
(004-007-19) 22 TpyOka HarHeTaTenbpHAs 1 BHYyTpeHHee J12 61.2 | raiika coeauHUTEIbHAS 2
9 Knaman 1 B cOope Manas 39 IMopiens B cOope 1 (pe3nba (3/8")
10 Oropa nepeiHsst 1 22.1 | tpybka 1 39.1 | mopmrens P42, h=35 mm 1 61.3 | tpyOka 1
11 | Bonr M8x25 ] 22.2 | raiika coeIMHUTENbHAS 1 39.2 | KOJIBIO crienHanIbHOE 1 62 | Moxmmnauk 6202 RZ-1 1
12 | Taiixa M8 ] (pe3nba M10) 39.3 | xoubIo 2 (15x35x11)
13 Pecusep 24 1 1 22.3 | raiika COeqVHUTENbHAs 1 40 TIpoknaka 1 63 Skopb D67 1
14 | Manowmerp (pe3n6a M10) 2 (pe3pba M11) 41 | Hpwuagp 1 64 | Hopummnuuk 6204 RS 1
15 | IlpenoxpaHutenbHbIii 1 22:4 | BTyNKa ynopuai _ 1 42 | Wrudr &3x6 2 (20x47x14)
KI1anaH B c6ope 23 | Knanan obpatnbiit 1 43 | Inacruna 1 65 | IllaiiGa npyxunnas 3 2
16 Penykrop B cOope 1 B cOope 44 Kopnyc B coope 1 66 Bunt M3x6 2
16.1 | xopmyc 1 23.1 | xopmyc (pe3pa coenune- | 1 44.1 | xopmyc 1 67 | Illaii6a npyskunHas 4 1
16.2 | sarmymika 1 H ¢ pecuBepom 1/2") 44.2 | KonbLo npy:XKuHHOE 1 68 | Bunt M4x38 1
16.3 | npyxuna 5,8x15,4x0,44 1 232 | BTyNka sanopHad 1 BTYJIKM 3aIIUTHO# (BTY/IKa 69 | Crarop h=40 Mmm 1
16.4 | Brynk ;m B ’5{ ’ 1 23.3 | mpyxuHa KOHMYECKas 1 He N0Ka3aHa) 70 | Tabmuuxa 1
) T 1 12,6x15,2x17,2x0,7 45 | Boar M12x16 1 71 | ®nanen 3agHUI 1
163 ?(;) iI (;)_[;)01 g_e 13 ;I)H onoe 23.4 | KOJIBLO PE3UHOBOC 1 46 | Taiixa M3 4 72 | Konslo cronoproe J12 1
16.6 | BTy;nKa NpoMeKyTOUHas 1 735 01§-01 9-25 0 47 | Bunat M8x25 4 73 Benrtusrop 1
16.7 | KOJNBIIO PE3UHOBOE 1 ’ EaHKaé3aﬁ12}'8HKa 48 Konpencarop 1 74 [Ta#t6a npyxuHHAS 5 4
(020_025_30) peE3b0a ) : 5 7 25 mx®/220B (p63b6a MS) 75 Bont M5x70 4
16.8 | Brysnka 1 24 TpOBOENK 3X1,50M 49 ITpoxnaska HUXKHSS 1 76 Kosxyx 3amuTHBINA 1
16.9 | npyxwuna 12,8x24x2.5 1 25 B Tyméa KZ?I;GOBM 1 50 [InacTuna cuenyanbHas 1 77 Bunt M5x12 2
16.10 | perymsrop 1 (pessta ) 51 | lnauka tomu. 0,3mMm 1 78 | Bunt camopes 3x15 2
26 Bryka saxumuas 1 52 [Tranka Tommt. 2,5MM 1
% e (pe3L“6a e 2 : 27 Jlenecrok L 53 IIpoknanka Be X,HSISI 1
18 [uyp CGITZBOI/I 3x1,5mMm °, 1 8 HaKOHOTHIK 5 ” BEHT Y P > Cosnacosno
19 HBJ;I;IIiia 321)1(11:14MHa;{ 1 29 Pyuxa 1 55 [Taii6a npyxuaHas 4 2 Huoncenep____Ilempos B.I
20 | Brynka pe3pboBas 1 30| Kpemka g cope ! 56 | Ilaiiba 4 2
(pe3nba M19) 30.1 | wpeiuca 1 57 | Tonoska uuunzpa (3/8") 1 w
30.2 | unpmmukarop 1 58 | Bomr M 8x100 2 3am. nau OTO Knéuxun A.B.
31 | Bumr Mox14 6 59 | Vronox (3/8") 1




Kommpeccop

KBII-1-1600-24

22.3
22.2

—21.7
» Knos. 23.1° "]




